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it HEWRY T 2) BT — A1
FE LA-V OUT[1][2][31[4][6]1[9] I N[11]1[12][13][15][16][18] 20214E11H18H  CKBEHRH)
JEAE K 4 oUT IN G |HC NET 7= 7 NEVAR= dA,

NS 44 47 91 17.2 73.8
2 BRER 47 44 91| 17.2 73.8
3 MEx REET 48 41 89 14.8 74.2
4 Rl 48 47 95 19.6 75.4
5 ILAES 48 46 94 18.4 75.6
6 FKEFFOLL 44 43 87| 11.2 175.8
(R 41 44 85| 8.8 76.2
8 —HT= 48 49 97| 20.8 176.2
9 HGET 48 48 96 19.6 76.4
10 =F XV 7 48 51 99 22.0 77.0
11 ZELUsE 47 50 97 19.6 77.4
12 JLiR B 48 52 100 22.0 78.0
13 MEALER 51 48 99| 20.8 78.2
14 FHFHF 49 48 97 18.4 78.6
15 AR I 7 49 48 97| 18.4 78.6
16 #inHER 1 46 51 97 18.4 78.6
17 AEXREET 55 52 107 28.0  79.0
18 HRATBESE 50 55 105 25.6  79.4
19 JeEyE/ASE 51 53 104] 23.2 80.8
20 fm R E 59 53 112 30.4 81.6
21 HHEEAL 52 50 102 19.6 82.4
22 HERHET 54 52 106 23.2 82.8
23 PRASRRHL 7 48 54 102] 18.4 83.6
24 JEEHIT T 51 57 108 24.4 83.6
25 @AW S ¥ 49 49 98 13.6 84.4
26 #HHIRAE 55 56 | 111] 25.6 85.4
27 FH)IDE 56 59 | 115 28.0 87.0
28 P4 [if] R 52 61 59 120 31.6 88.4
29 FBHEE 59 65 124] 34.0 90.0




